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B FEHERT X 1 52, 020, 882
HEELT = 1 2, 750, 038
HRHEI T = 1 95,070 | #EH! 300 m3
/Y A7 iy PR PEEME 5, 000m3ATH ;
BEARRE AT = 1 1,313,482 | B (B BE+ 200 m3
2. 5mAT ;
EuNE R 260 m3
2. 5mPL 4. OmARTi ;
EuNE R 30 m3
4. 0mPL E
BRE LT = 1 1,028,634 | 150 m3
2. 5mAT ;
IR R 1 220 m3
2. 5mPL 4. OmARTi ;
IR R 1 20 m3
4. 0mPL E
Rkt A = 1 312,852 |{EMmEETE (U)LH) 230 m2
BRI v+ R OWYE + kit
LRI (3% 1350) 300 m2
T i S O I BRI
EEEET = 1 742, 500
ERLL R T = 1 28,900 | RNREFKIE 250 m2
HEMEL ;
av)) -k T X 1 713,600 | T gk (I - BIE ) 250 m2
S
FEIT9Y%77 RC-30 AV /E 100mm ;
3] 250 m3
a/))-b(15E)  t=70;
HEKHEEY T = 1 1, 809, 650
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s Sefe =
FEAENGRE
TEL | S0 6 ARG 2 Blh 1.5
TEHX4y « Tfd - FER B Az ¥ = & #A i il N BN
(== = 1 330, 850
R T =Y 1 1,478,800 |7 VEyANZUAITE 200 m
PU1-B240-H240
01-US-01 (PU1-B240-H240) ;
[CZEHN Y 1 72, 000
oL Y 1 72,000 |7A=7" 50 m
AC-1-1
FARIR FET A2y (13) 215em2LL F235em2K0
BT T = 1 2,614, 280
5 (-4l T = 1 2,614,280 |#A7E (KHIr) B 1L 120 m
HRYERA (AT
PRE 4AH LHHESARH o &
HAYE (BRI B 1A 130 m
HRYERA (AT
PR AR 2o 7 U — FEESAH o &
WiERE T = 1 10, 997, 740
(== Y 1 272, 940
AT T HREE T (159 HAL) = 1 10, 724, 800 | H Sk 160 m3
158 ek
ImZ#8 % 2mATs 15 ;
£-7 ny)FE (5E) T Y 1 4,486, 326
(== Y 1 109, 529
VR VAR PV RN EVZA R VAR DY E <) = 1 4,376,797 | BUGFTHEEE)) -} 35 m
152y )=h7" ny ) Feige
175 JEME 55cm =& 35¢m ;
a7 =b (50) 77 vy )4l 112 m2
17520 )=b7" ny ) kE
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FER N E
TH4 | S0 6 FEARL RS 2 B T4
TSy « TfE - FER B {7 ¥ & & # A bl A iR
Pz 35cm VB ;
A - BEARS (W) 47 m3
LEav)) =47 ny )48
FARAG RC-40 ;
Bl HT Rbiav - 0.5 m3
IREPN =NV
15
H Hi 0.1 m2
IREN =NV
TR AHERT B M t=10 ;
Bl HT Rbiav - 2 m3
25 K/ )b
15
H Hi 0.2 m2
25 K/ )b
TR AHEET B M t=10 ;
BEFT/ A 1kay)) -} 1 E10
IREZIN SRR
15
NRITER 7 1 217, 500
WA T # 1 217,500 | H5Am 200 m2
AEBME L 100m2LL 250m2AT ;
B LAY 100 m2
JElem %A 100m2LL F250m2AH ;
[T 2 1 66, 450
JE KPR T 2 1 66, 450 | EKERE (HA) 500 m2
58T 2 1 20, 572, 800
BT = 1 20,572,800 |fxt% 6, 000 m2
PR A e 1, 200 m3
ALy 1, 200 m3
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FEHE NGERE
TEL | S0 6 ARG 2 Blh 1.5
TEHX4y « Tfd - FER B Az W B & #A i il N BN
SN AL T =Y 1 5, 715, 840
S BLERESE T = 1 5,715,840 |4l 1 =
HEYE T Y 1 404, 758
HEETE LT X 1 221,826 | )~ HEXE YU L 17 m3
MEAHARETEY) FEAOE T
A IR A 100 m2
TAT MR EERIE 5 cm
TE LB T =Y 1 182,932 | XiEM 17 m3
/) -k (BERR)
X 5 m3
TAT7IV NS
RISy 17 m3
/)Y - hik (AT
RISy 5 m3
TAT7IV NS
RE% T = 1 1, 571, 000
AEEHE T = 1 1,571,000 |AZ10F5EZH S 1 =
[ERE ALy = 1 52, 020, 882
HiE 2 1 4, 259, 000
HIE R 2 1 518, 000
BGRESCGES (5 1) = 1 518, 000
B (FEHL) = 1 3, 741, 000
T = 1 56, 279, 882
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R PERE
THEL | A6 FEALGRNE 2 E LH
THEXSy - THE - FE5 H7 & & # i Gl 2 N

e R E20 1 19, 096, 000
T AT 2V 1 78, 346, 842

— e PR E20 1 12,793, 158
N E20 1 91, 140, 000
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R PERE
THEL | A6 FEALGRNE 2 E LH
THEXSy - THE - FE5 H7 & & # i Gl 2 N
B AT E20 1 714, 480
LR T X 1 714, 480
RS EE T 2V 1 714,480 |JSEULER 1 X
[P % 2V 1 714, 480
Hm R E20 1 195, 000
e Tre: X 1 19, 000
BUGBREIUEL (REH L) 2V 1 19, 000
sty (R L) 2V 1 176, 000
ol T 2V 1 909, 480
TR e gL E20 1 576, 000
T AT 2V 1 1, 485, 480
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[P % 2V 1 714, 480
Hm R E20 1 195, 000
e Tre: X 1 19, 000
BUGBREIUEL (REH L) 2V 1 19, 000
sty (R L) 2V 1 176, 000
ol T 2V 1 909, 480
TR e gL E20 1 576, 000
T AT 2V 1 1, 485, 480

-7~ E bzl P E IR




